Model parameters

Symbol

Description

X, = [Tb, Yo, 26] -
Xp = [, b, 2]
Xe = [Iwyc]T
}.(c = [1"(:7yc]T
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X = [XlM Xbxcv XC? ¢a 1/’]T

Z = [xb7 ?(07'¢7 ¢]T
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Coordinates of the ball
Velocity of the ball
Coordinates of the catcher
Velocity of the catcher
Spherical angles defining gaze
State of the system
Observations

Controls

Force parameters

Damping

System covariance

Initial covariance
Observation noise parameters
Observation covariance
Successful catch distance
Discretization step

Planning horizon length

Cost function weights

2 < b <2m, |0) <7

{7.5,2.5}

5/6

diag {0716,0216},02 = 1073,02 =107
/s - diag {1/5,1/5,0.0,1/2,1/2,0.0,10721¢}
{1072, 1.0}

diag {0213,04}

0.5

0.1

N <30

{103,10%,102, diag {10,1,1,0.1}}



